
SAP ABAP table FIEBLORI {FIEB: Incoming Relationships of Physical Documents}

FIEBLORI

MANDT [CLNT (3)]

REP2_ID [CHAR (32)]

REIO_ID [CHAR (32)]

REP2_CLASS [CHAR (10)]

RE_CLASS [CHAR (10)]

REP1_CLASS [CHAR (10)]

FIEBLOIO

MANDT [CLNT (3)]

LOIO_ID [CHAR (32)]

 FIEBLORI-REP2_ID = FIEBLOIO-LOIO_ID 
0..N

1

SDOKIOCL

IO_CLASS [CHAR (10)] FIEBLORI-REP1_CLASS = SDOKIOCL-IO_CLASS 
0..N

1 SDOKLOCL

LO_CLASS [CHAR (10)]

 FIEBLORI-REP2_CLASS = SDOKLOCL-LO_CLASS 
0..N1

SDOKRECL

RE_CLASS [CHAR (10)]

 FIEBLORI-RE_CLASS = SDOKRECL-RE_CLASS 

0..N

1

T000

MANDT [CLNT (3)]

 FIEBLORI-MANDT = T000-MANDT 

0..N

1


